LR
Question No.:

1) The linear sastem  cam  be  rewritfen  as

J

TEEAYAANNAY

R;; : /\;:/0 \'/ ¥ Z=2
e D= ("), 1=0e), us (o)
Tedic & = Dl-w-r)xFs )
mE———— o =2 2

By = DU-u=1) = (55%)
¢; = D'b= (1)

Qauss = Sided ¢ " =(D“—) ‘((‘l/t) ’(k 1 (b't'-,_) b
S e
Lt Bas = (Dt) ' (-1) (¢

= 0 2 =3
b Yo O 7

= (ptL) b = (é.)

Cars
i T fo)
x' = Busx'+ Cas = (_°) x = Bas X'+ Cqs = (-31,1
(b)  Tucobi * et (By- A1) = ~ )
‘ij&y =3 ID(‘ Br) =0 > Jaub, mith:d

Cmve\:‘)es

| Gaue- Sl ¢ det (Beg- aI) = AT

= f( Bgs) =239 &S oiivijcs

R KPS S
Do not write your answer outside the red margins.




KA 5% $

Student ID No.: Question No.:
. : m— . o a0 8e &}
3w Bes ==+ u =-(34, ) (oo s )
Ni=Str~d = & \?coc/
©o o 0
o = O 0\0 Qa -
© o0 ath
N OO0 0 3at+btc
C O 0o 80\?3),1- ( o
N 37
 dit (Rge = AT) = A (Ja+3b+C'fA)
Hence lo(.,Br.;) - lc?a TSIDTCJ‘
Gs Converges & 3atibtel < |
k)  0=b=-=</u > &a+t3btc =0
L i ? L-BCS)S )
Here Q-S  omwerges i Fnttely  many  steps.
J J J !
(R —— 57 =
4- Counter exaw:ple ‘ A= (2i :' " )
A T SPD ad (B x 1 40s|
5‘ *,Hmseﬂblclw ~J»Bg l@_ggm : ‘S‘dm”\ﬂﬁc
T A ad (NEN-AD ave , postie definte peal  waitiices
o Hy Toathe Sdeme
. N Xlﬁl = px“'f'b Convevges. .
B?’ (’]2%2@ or lin —nteoﬂ e O(" A A € [j./()]
— , al e(q-vnuulucs of A awe LIPR amd A s SPD.
R RS R EoR By
Do not write your answer outside the red margins.




EE LR

Question No.:
i 4 -l

3 ha4d

Jacohi - NTfN‘ A = (" =1 e )

(s SPD ( _Bj ()efsﬁadﬁn Mo ;_.Qﬂ e?\a}m,u[gu wm f2,6])

4 N\ E— e e
Gs - Sadel - Nt n—g = | * e, ) i sed

( al eljenmlws et fue ).

('\ P)SH'\ 10.60 ")l

and (5- S @M%%;?_

, . gy J
(a) L\.‘C_D:( .z> (100>'M:(_°'

The SoR  wethed % glvan  bu
J Jd

(\L*J(,JD)“' (D~ (DTM)T(*# ;Ev)-

4 1

=t W W/, =\
E /2wtw1) il
8 } X
oo Y =
"‘UI Crt3) wéﬁ“ st 67 3 2 /
© L2 %'ﬁ+\
{ Sw-t
+ | 2% ‘z‘\)
e 1

k)  lett A be  an €9enualne  of

- (Lmb) {0 D - (ptu) )
We Rae

dnt(( L+bb)* (D -(vtw)) —A1) -

t (& D~ Ow) - mmb)) o
lst B, (D‘rb\) “A(LtID)

B AR % 5 A b
Do not write your answer outside the red margins.




S B R

Student ID No.: Question No.:
— S ’U / l e — ,,', - | i
By (\*@ U-2) —l)D'- U- AL -

. NJTQ 'Hndft g; ‘ﬁa& A Z2éro -e\(ﬁm/alwe. E (*) .

e o e?‘) envalue  of é; : B:} (3@"9&_3051/1 —”Am,
Mgl o
e s e ) D) = LZ e

J

“—-

= (%-1) oz} - %’— o | - & (la:—(lﬂiz M’.;})

> lag | - 25 lasg ] + (la-(-,|;§_@.jl)

S0

> O (A s sSDPD)

 Case 2 A >
Ul < _’—“'3 ti=a ) -l( lagi |+ %’_: ]a-j ’ + Al ; M-.—ll

la;
<7 —H

- (%(»-A)-ﬁi)la;;l ¥ Rzelau'."" /\JZ:' el

< (Buw-Dlal + AT gl tAZ )

= “(é__(n—j) ~p ) ol + A lasl
('« A ® SOD)

= (=0 0-%) law]

(— < O

 Heme bt cases  cafiedicn ()3 e T <L

or _p(BR) < |. .

B TAF R A

Do not write your answer outside the red margins.



~—

9% KA I B
Student ID No.: Question No.:

2™ = @)™ (£0- @) x* 4[> )k

(b). By Gerdlawin Thm, an
I J

s

clgenalue o A, |
< J ’

- (6,1) = [1.3Tu[esu3s]
= [o4].

bl it A ¥o. Hence re (o,4].

Home A is SPD . SoR Corvavos = o< w<2.

l

c}’N 1

3» =
/\6- r‘k;)l 60«?;

(¢). e Cimpule {O(Hj) = ’b/lé B

0<>

4
_HPMJ&“'\)”@ Hﬂfﬁ,___,‘}Tw . o

(2). ,m_b, Lv n be the dT“ﬁ“"‘“i ; | swer -fV-(O\M\C}.AI(Ar
*___,,md App oy _fhflamsu(wv- ;M\-T r} the @ A‘

Note  fiut Hj = Mgs = *D\'M/ p
diag my L of DU 75  al awo.
Homae e’l}ev\value tsf M} - M s ave ol zevo.
,,4Me£m ID(M\:[’ ) = lﬂMCqQ) o <| 5, and
bth  wethods cmverge.

(e) Qi QJ_ L M be e dia k‘wer_* ‘fW\qmlM
,,,,,,, B V\M-V" "fhav\ m a1 S‘f AT - o
 Mste that MJ ()_+ u,) D! (L ) -

MR H E b

Do not write your answer outside the red margins.



KA % B
Question No.:

disgral of =BT s all zere.

Mes =~(5+Z)"& = (ﬁft)' 0 = i}

Hem e P(M‘l);lp(HQ‘S) =

BG""\ Jacab‘( WV\Cl 6‘(’3 W\,é'lmﬂ OMLAvt\/je/ .

9. det (A-A1) = —(A+a~-1)(A= 8 (a12)A —g*1)

dof U\*Al)r—o =) A= l=a ar ~(mz);tthf-

<

A i pusitve defwite & all é@mwm >0

A | SRR y il NN
—(ot2) + Jlat)=¢04 1)
<¢) l-a> o awd ! 32 i

& ~;<a£‘-é et 0sa < |

g det M- A1) = = B (3= ad-(a'+a)
i ¥ la(Sat4)

it (= ee B As ~a s M= S0P

Jaco bl cavevgec (:) l’}\\/ | < | for all ‘-fosﬁbk A

S -lcn < | and (0£a€h or
as ¥) and (a0 o

-1-f <a 5'%)

& —H<a<c ¥ o pca<il-l

B8 TAEH AL
Do not write your answer outside the red margins.




o

-

KA IE $

Question No.:

T'Lﬂ{
Student ID No.:
L‘(\,) I‘F < < 7Zé N avy (XK <h
e up o< |- WA < Fwe <) .
 Hmae p(lmw p) = mex lmwAl < |
i { £K<n K
(b) pll-wA) = w\xll»w,\gl ~D—w/\ f
v ( <p<y\
L Hem 2 ) w‘ﬁ/u?. Hevative  pathed omvu@c;
Tn n “tevatimm s .
—_— -o-; \ S 3t % \
X ' [leo -
- »:9‘9 )(l: ;2/“3\(11”00 -
= = ("l)l)7:xo =
o T mthod ,dog_m&_aweyﬂBS
— - S"Mco >\} = GV\(vl Az = -3 .
e l>\{ l :r\)_!
[ X thy pover  ymoatod  does e Cn
. px .o 1 =
b A x =(04,49) 9x
T powe mthed wks  an thic  case.
et B2 v v ‘ —
I w=, = (2, - ,41) /ﬂ -, = F§ v’
W= Vo — <Va, uy2 4, = (’é ’ 2/5’/ °|2 _—
i |
; 0 We LT =
ML— i) B CE (,sc’ ;S( -l)— ’ ~
Wy = V- w7 U -4, U, -‘:(‘&75/ 1% _8/3>
B A8 R A % 4 P
Do not write your answer outside the red margins




A8 3 2

(3.

Question No.:
ie “r
,7,#M;_; EIV‘%):” = ;r;-;—; (3/5, lb,/%, 8/5)
( ~ T -
= e Ui, B, 02
R
Hece 2 Sa e\ [S % £\
B= [+ 2% % || & 5 |
\ iy "‘;}z /"E/ o o t%/Jg /
R(v, A) = va;' ]

I_F A & S.PD. , Than Ay £ R(V/A)Shl-

)\%;... Z22Au>>0  owve el:}-wwlws = A. _ |
et v be Ho mmuﬁ,d ch A WWJij t A
For anq VGFR wrtte v=£c-,v;
=
- X ~z o C- V;V’:
Rips Al = —ag = e
v Z C, Cl V U‘
v/"

* " oy gl 1l
N i Rup) € a Dctadv
zrc*qv*V( 7 cF oty
=t ]
2‘(’\ Aué' 'R(V)A) é ?\l .

B R AT B T
Do not write your answer outside the red margins.




9%
Student ID No.:

ER IR R
Question No.:

R(.X}+1 / A)

i Dux_fr u\'t/ xj‘t‘ /M:J 4\ . — =
J‘F  Lwerce powe v pagtied ¢ -
L it % %ol = v —

f'N —L: (O [ & g -
™ |

Solue __,A?Jﬂ = Xy ]
— Lt X5 = 23w /lZ5ale
- End I
OWT pit,  ERTR LA X |- |

i/’ X‘!/bﬂ o ‘

xo = (o).

,,,,,, - Slve A=z (= X 2 2, __27‘_C : j -l

— gtATAj:__ZilmZJML*? (L. ‘°821+

- Slve A = e I - Tl -53
ot ¥, = 2, /430 = (1 ,-0368)T

ower  pthed  wa  sbiAf

e IV")M ‘,7,)_&_,;,421-___41[3)_“5& =f
7 7 T—o, r——

Se  (A-p1) 2y = X5
Lo-t X’}‘h R J"“/“igﬂlho

End T
AMQAQullmmﬁﬁl1‘JUﬁ’ﬂl)E§u”w

BMTATE E LRI
Do not write your answer outside the red margins.




LR
Question No.:

Lmt X = 2, /il 2l = (
Qlue  (A-pT)2, = X, 3 z= (3133, -23.0f

(A—p1) Xo= (~0.0303, o928, ~e0084)

- X —o.03Ftmm = 12683 0000

BL# (), (b) Sk‘t_,‘pfoe . S
(@) Tteraltn aa (&) convenges bt ":tx(_' o

lb)  dses w5t cowerops -
For Q . l/\'LL 2 |)\1—l :

B, I =ML

Bow. A‘L (a, v + q;v; )H«o? [/a, ,\*f (v, t (—1)‘&\/;)’;0

b A does  nat, Coveqes Ty Jemeral
He Pmrr meflud -

(b).  Suppose A = A =-2. Pem (a) |, the
powe mothed  does wit  canuge,
I C\«\'I'{\)Se Q,\‘i = /)'}. {7 l/\)_\ 2 !{\&‘
it X = Vi te*auVn
k. _ AK
ASx = AT (At t0uvn

K
K

]

A

B AT A AR Sh
Do not write your answer outside the red margins.

> A

Lt x5 = 2,@/2 41, = C, —033]3F, 0-24%3)

4 2
e peee NS -
}‘ll\( a Vv + a)_Vz‘f‘Jé; =% % VJ)

l/ quglll‘O‘thfﬂ_)T



338

KA T

Student ID No.:

Question No.:

19 l.:t( Vo= be neowalized e‘ymvaztav,;,,
fos W-V-—(' AJ g A{A P - o —
Lot X_(‘) = 5(% & %, o0
. r - k) (¢
x® = A® ¢V - A x
3 i n K -
| (&) e+ |
£ X3 i
A X > .
ey
A X\U XH’—) - Z < A(
L3
) M
. XLU : ’(Uﬁ - _i} C}z QA5
s |
- W (&) S — 2k 1 =% L e
CAXTxT X e AL g T A
XU . xT) ¥ et ¢ el o
™=« ' o
. B S . T AL A T
= U+ FY-(&) )
iA ey N -’-l(\" \
- - £ o sl L5 ]
- )\‘ ()i (=2 C:) Ay )
- B .2 X 2]
o . - At =2 (C‘ )MA’\ZT LAfd
2K
Aq—+-0 {’j)—zl )
~— l, 1 L L’\j | 7
90 fa) wEEEN 5 = e 8@
[ *'_“G; l kl - , K= k 0 * O 2
=Bl N A © o 2 2
L= = - R
- Boamh e T
- {
), @R X b 3 > Rx=aq'b=(7)
iz, & o
— A
I" };/ }
&AM T B R ST 40F '
Do not write your answer outside the red margins.




XA 9T

Questlon No.:

7t -2 4 s
(c) ,A'=Rco=/-—l-zao\
2 o o =2
= =] ~—¢ . .
2, e N Fi= 5 X%
7S zs N
20 (8. A= QR= ( gt tls &)
Ys ’z/zf/ _______ N
gélug R‘;‘ = GTE e
e PRBEY =
* = e | !
¥ ;S/
(). Nite @ (12 ,.,~q)7 1L (-2.3, 4) a»J (3.9 4
L Lﬂt \/4 = (\31 o4 )T,, V).:(-.ZJB/‘F)‘;
% T
Lhc K/:-ll - (};/ 2 5 ‘(7';)
W= "V, — <Va, u> i <
= (=15, 3, 12/6)
Wa =
W = 7o (—-lb/zr, ¥s (2/2,3’)
2
W-} = (ll/lbl-CI)
Uy = ﬂ = ('2/J_S 7 A;)’
2 L/IS -H},/?/)r J’/én)—-’\ /[ S_ Z- o
B>(QK:(O 3 4/ Vo SRS
Y% e Yas Lo o s

BT R A Aok
Do not write your answer outside the red margins.




